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1. 5x 8+ 2 =27 Isleminin sonucu
asagidakilerden hangisidir?
A) 50
B) 52
C) 42
D) 46

2. 5x 8+ 2 =? Isleminin sonucu
asagidakilerden hangisidir?
A) 50
B) 52
C) 80
D) 96

3. 120 + 2+ 3 . (12 — 7) =? isleminin
sonucu asagidakilerden hangisidir?
A) 50
B) 54
C) 40
D) 45

4. 4 .3 -7+ 9 =? [sleminin sonucu
asagidakilerden hangisidir?
A) 14
B) 28
C) 16
D) 32

5. 18+ 3+ 2.(9 —4)=?Isleminin
sonucu asagidakilerden hangisidir?
A) 14
B)16
C) 18
D) 40

6. (3x5-2)+6-(9-4+2)=?
Isleminin sonucu asagidakilerden
hangisidir?

A)l12
B) 14
C) 16
D) 18
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7. 24 .3+ 9.5+ 10 =? Isleminin

sonucu asagidakilerden hangisidir?
A) 10
B) 12
C)8
D) 4
8. 52+4.8°+2+(36+3+5)=?
Isleminin sonucu asagidakilerden
hangisidir?
A) 503
B) 523
C)433
D) 463
9. 120+3-5 x7=? Isleminin sonucu
asagidakilerden hangisidir?
A)S
B) 10
C) 15
D) 20

10. 165+(31-26) x3=? isleminin
sonucu asagidakilerden hangisidir?
A) &9
B) 99
C) 119
D) 129

11. 18+12+3-2.4=?
Isleminin sonucu asagidakilerden
hangisidir?

A)?2
B) 8
C) 14
D) 16

12. 48°+25+75+20x 15
isleminin sonucu asagidakilerden
hangisidir?

A) 2304
B) 2704
C) 1740
D) 3470
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